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Note :— 1. Part'A' may be attempted in first 5 pages of Answer Sheet.
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PART - ‘A’

Q. 1. Attempt any TEN of the following questions :- (10X2 = 20)

(1)« What is a view? Explain it.
(2) Whatis Functional Dependency?

(;), lilustrate lost update problem with suitable example.

(4) Whatisthe purpose offile header?

(5) Describe Wait/Die & Wound/Wait protocols.

(6) ~Whatis an entity?

(7)~ Explaincompiler?

(8)/ Whatis super key?

(9)// Whatis normalization?

(1 9), Whatis dataindependence?

(1) Whatis an entity type?

(12) Whatis asingle valued at{ribute??
( }3')/ Define Relational algebra.

Q. 2. Attempt any FIVE of the following questions : (5X4 = 20)

/(}) What are the advantages of DBMS?
(2) Explainin detail about various key constraints used in database system?

{3) Discuss the mechanism of attribute relationship inheritance. How s it useful?
(4) Explain in detal abouttime stamp based concurrency control techniques.
g)r Discuss in detail about the concepts of E-R model %h suitable examples.
(6) Explain using example SELECT, PROJECTION ahd JOIN operations.

- (I} Drawan ER diagram for hospital management syz.t‘em.
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PART - ‘B’

Attemptany THREE questions of the following : (3x20=60)

Q, 3 Explainin detail about the three tier schema architecture of DBMS.
(".)}/Btate 1NF, 2NF & 3NF and explain with examples.

Q.5. Show how to preserve Functional Dependencies during decomposition.

Q.6 Explain using example of following relationships:
(a) Many-to-One
" (b) One-to-One
(¢) One-to-Many
(d) Many-to-Many

Q. ZxWhatis a distributed database? Explain its concepts.
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(1) = = 82 st fasm=m #ifed

(2) v FrRadt T e?

(3) SUGH STEIIS HY lost update problem 1 R =aEy |
(4) FIEA TSR IIA FTR?

(5) Wait/Diedd1 Wound/Wait GRS I &1 90 Sifs |
(6) Uffewnd?

(7) FEEEE R |

(8) FW-FHIFNT?

(9) RHATESIYH T §?

(10) S A=A F 2

(11) dfefe eu=T®?

(12) fimel Sege e F R?

(13) Tl Tt 1 aftm fafi |

2. g v uwE & e e | = 26
(1) DBMS = T =1 87
(2) “erdve oIl # SwA oY SIS P g & far 7 fewqa faerer Fi |
(3) TR TRl TeRe &1 Aehfen W =l Fifed | 98 e ThR 3w ©2
(4) AR SNUIRE FIARLHN Terd T i forega e iferd |
(5) TIYH IR & WY E-R Hiew & wae F fawqa faaem wifsd |

(6) STTETET T ITAM F T SELECT, PROJECTION e JOIN Tmanedt fe ferdrmn =iferd |

(7) =oFaTe WEuA Joell & ford E-R s 9 |
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SR 6T ITG 3§ Freferfas grery 5 fad safad:
(@) Many-to-One
(b) One-to-One
(c) One-to-Many
(d) Many-to-Many
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